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Classification Questions for Bank Exams (CGL Tier 1 & 

SSC 10+2) 

Classification Quiz 9 

Directions: In this type of questions, certain numbers are given, out of which all 

except one share some common property and hence are alike, while one is different 

and this number is to be chosen as the answer. 

1. Choose the number which is DIFFERENT from the rest? 

A. 7359      B. 1593      C. 9175      D. 3781 

2. Choose the number which is DIFFERENT from the rest? 

A. 126      B. 217      C. 345      D. 513 

3. Choose the number which is DIFFERENT from the rest? 

A. 325      B. 236      C. 178      D. 639 

4. Choose the number which is DIFFERENT from the rest? 

A. 3740      B. 4635      C. 5869      D. 7946 

5. Choose the number which is DIFFERENT from the rest? 

A. 13      B. 17      C. 23      D. 37 

6. Choose the number which is DIFFERENT from the rest? 

A. 263      B. 111      C. 242      D. 383 

7. Choose the number which is DIFFERENT from the rest? 

A. 5698      B. 4321      C. 7963      D. 4232 

8. Choose the number which is DIFFERENT from the rest? 

A. 7487      B. 5963      C. 8218      D. 6596 



 

 

9. Choose the number which is DIFFERENT from the rest? 

A. 57      B. 87      C. 131      D. 133 

10. Choose the number which is DIFFERENT from the rest? 

A. 1532      B. 8749      C. 4268      D. 5846  

  



 

 

Correct Answers: 

1 2 3 4 5 6 7 8 9 10 
D C B A C D D B C A 

 

Explanations: 

1. 
All other numbers consist of odd digits only. 

Hence, option D is correct. 

 

2. 
Each of the numbers except 345, is one more than the cube of a certain number. 

Hence, option C is correct. 

 

3. 
In all other numbers, the last digit is the sum of the first two. 

Hence, option B is correct. 

 

4. 
In all other numbers, the sum of the first and the last digits is equal to the sum of 

other two digits. 

Hence, option A is correct. 

  

5. 

Each of the given numbers is a prime number. But the number obtained on reversing 

the digits of each of the numbers except 23, is also a prime number. 

Hence, option C is correct. 

  

6. 
In all other numbers, the middle digit is equal to the product of other two digits. 

Hence, option D is correct. 



 

 

 

7. 
This is the only number in which a digit has been repeated. 

Hence, option D is correct. 

 

8. 
In all other numbers, the first and the last digits are the same. 

Hence, option B is correct. 

 

9. 
131 is the only prime number in the group. 

Hence, option C is correct. 

 

10. 
In all other numbers, the last digit is one more than the first digit. 

Hence, option A is correct. 
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